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(¢) AETSTRRITEAT Wafed TSI, 3RIRT 9 BRI

TSR] FEferd THTSTTET
THSTHRITT FEed AR [/ freronemat
TSR FEferd 3refers

q) FHTSTRRIAT Aafed AHTSIIRT

a) TRhICT TRIMTFUET &8 UIRT PLarg Goard g,

b) PRI JfRIBRIET MIR IRTAT

¢) AT AT ot g Fied feg wrgam.

ReRIHT Dor frer /e gh am/amed ?

gff S :

9) T (a) ?) (a) 3T (b) 3) (b) 3T (c) 8) oI el
(a) The family begins to teach the individuals the lessons of self control

(b) Law 11s based on authority

(c) Moral values survive as long as there is social acceptance

Which of the statement(s) given above is/are incorrect ?
1) Only (a) 2) (a) and (b) 3) (b)and (c) 4) None of the above

a) T g T HIMGS ST,

b) I & acHIwRiR HaMg Faeurl! ATigeid o SR

¢) FIF Hed gdl PIURATE!. AT MRS Tbicacdl TRIGRT JTER 3RAAN.

et Pt e/ Rem B /e ?

T SR

9) Wb (c) 2) (b) 3T (c) 3) et Jqd ) eIt ATer
(a) Values are standards of behaviour.

(b) Values are also general guidelines for behaviour.

(c) Common values are the real basis of social integrity in any society.
Which of the statement(s) given above is/are incorrect ?

1) Only (c) 2) (b) and (¢) 3) All of the above 4) None of the above

a) AMETTHIHRT & T 1T UfshaT 37T,

b) FAHTRTIRRUT Tfgh Sehidhgd Awpeital FUTGH BIol,

¢) ATTNTARUMS ehic AR e arefauard! amar FHfor gid.

TRITUDT PIo e/ e g amg/smed ?

T S :

q) F (a) R) ¥ (b) 3) (a), (b) MMM (c) ) AT el
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(a) Socialization is a learning process

(b) Culture is acquired by the individual through the process of socialization.

(c) Socialization develops the ability of an individual to play a social Role.

Which of the statement(s) given above is/are incorrect ?

1) Only (a) 2) Only (b) 3) (a), (b) and (c) 4) None of the above

GTeieThl ot fer= /fam O e /smed ?

a) TARATETH FHTSIIRROTT TYTdT ATeq 31Te.

b) TIRHTEI DS Afecial ATST 3RIA! Tl S Siie fGeaRT JoawiaeH oy e,

C) TAPTETET GART I IRARHIEIH 3T

Tt SR :

q) (a) 37T (b) ?) (b) 37T (c) 3) (a) 3T (c) 8) it

Which of the following statement/s is/are correct ?

a) The media is an effective means of socialization.

b) The media has a storage of information, adding knowledge to it can add value.
¢) The second pillar of democracy is the media.

Answer Options : .

1) (a) and (b) 2) (b) and (¢) 3) (a) and (¢) 4) All of the above

IMfTRAAT GTefietdhl DIUTRIUTT AT Faieel ST ?

eSS b) RIS C) ST ST d) gos Rt
g IR :
9) (a), (b) 371 (d) ?) (c) 8Tt (d) 3) (b) 3T (d) %) R

Tribals are refered to by which of the following names-?

(a) Vanyejati (b) Girijan

(c) Scheduled Tribes (a) Mulnivashi

Answer Options :

1) (a), (b) and (d) 2) (c) and (d) 3) (b) and (d) 4) All of the above

a) ST AIEFIGR FHNTE FHRIG G (I8 greseia Fgud JahHeil SGgd xudral T el
T AT RIS FUreel.

b) ARG FHERAT SUATAR BIUIN acH 76Ul STJara g,

c) TErA fdhar AT AT AT S SRR e Ut s 8

RSIH PIoRT e/ Rum Re e/ 3med ?

q) Eh (a) R) (a) 3T (b) 3) (a) 37T (c) 8) aRiedD! T

a) Social control is the means by which members of a society attempt to induce each other to
comply with the society's norms.

b) Behaviour that is in accord with the expectations of social groups.

c) Deviance is behaviour that violates the social norms of group or society.

Which of the statement(s) given above is/are correct?
1) Only (a) 2) (a) and (b) 3) (a) and (¢) 4) All of the above
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TSie e o &

a. AT e & achfawiir sngef srTara.

b. ARG PRI oY sRAara.

c. A = @chie o= fafa saara.

d. IR Faee & soh! ac-TasdeaT gt U SR,

e PR e /R T T /oma ?

9) %k d ) boamfrd 3) Nie T4 %) aRIAUD! ATEr
Consider the following statements :

a. Social norms are ideals about behaviour.

b. Social norms are abstract.

¢. Social norms control the behaviour of individuals.

d. Social norms are the group’s expectation about individuals behaviour.

Which of the statement(s) given above is/are incorrect ?
1)Onlyd 2)bandd 3) All of the above 4) None of the above

CIGICRERIEREEINGR

a. (IS0 SYEM M Jore AT (aIqIara GEN o Hewd TE 3o,

b. TIGPIC URITeT 7l FHSTIeRal I8 3R g {9 Jo M7 fFom=’ g/ o/,
TAGUD! DU e /faem SRR e/ 3ed ?

i SR :

9) Fh a ) b 3) W wd 8 Jaiedent ATat
Consider the following statements :

a. Emile Durkheim explained the importance of shared values in terms of social solidarity.
b. According to Talcott Parsons, the main basis of social system is ‘equal values and norms’.

Which of the statement(s) given above is/are correct ?
1) Only a (2) Only b 3) All of the above 4) None of the above

TSI Dot e /e SRR ag/amed 2

a. ST UTSRIGRT e fohdT forea Regactial AR H1ve STTOTR i uiehR M7 e et frget et amifor
T MAGT PR, T UfhIeT ATHTIIDIARIT 3R FUICIel.

b. AR ehl Aegheiiciios fafde Tme, Je3 T aaudR IR .

c. AT 0D Teh TTelt T8 FgUd SAHISTehIehRuNehs ifee ST,

i SR :

9) Heh ¢ ) bamfr ¢ 3) a,bamfUr ¢ ) RSB T

Which of the following statement(s) is/are correct ?

a. Socialization is the process by which an individual learns and adopts the behaviour patterns and
norms considered appropriate in his or her culture.

b. In socialization, an individual acquires various norms, values and behaviour patterns of the
culture.

c. Socialization is seen as an effective tool of social control.

Answer options :
1) Only c 2)bandc 3)abandc 4) None of the above

TYh / TSR FATSTHEITOT W TI&T / 900
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SAHTRTHIAROM WISSUIH Dot S amg/amed 2

a. R AFPR 0,

b. STTHIEN BV T MG AT oL,

c. [T fHepTar fereror <o,

d. PrereTd frepfaor

i SR :

9) a 37T ¢ ) beamrd 3) a,b,c 3T d ) RSB T
Which of the following is/are the objective(s) of socialization ?
a. To inculcate discipline

b. To instill aspirations and cultivating ideals

c. To teach social roles

d. To teach skills

Answer options :
l)aandc 2)b,candd 3)ab,candd 4) None of the above

TSI PIor fae /e sRIsR ae /M ?

a. AT Jerd fIeM0r QUarl g ¥l A feepfavara mmerfiies Bl PeargR 2l

b. #F TEPR Hewd HgeA Well T A,

c. IS Seiforen GRoNd Jog e ey A HTH F1 3E.

gt SR

9) a 37T b Q) B b 3) %eh a ) aRSUD! T

Which of the following statements(s) is/are correct ?

a. The primary function of teaching the social values and maintaining culture continuity is through
family.

b. Mahatma Gandhi emphasized the importance of labour culture.

c. Value education has gained special importance in the National Education Policy.

Answer options :
l1)aandb 2)Only b 3) Only a 4) None of the above

EIGICRCLIEREEING R

a. I g9 ace fIvges w91 At FRee seR sRadrd,

b. I & AT AfRAErEl 9N SHoe! RIN.

C. PIUATE FHSTE Jo g Fefed TTOUIT SR g IREIR A& Jerd! HaTd Jod avel §00)
3R,

Rt o e /g™ RisR Mg /3med ?

9) a 3T b ?) a,b 3T ¢ 3)%h ) b 3T ¢

Consider the following statements :

a. Values are the basis of behavioral norms or social norms.

b. Values are part of a person’s personality.

c. Values in any society are organized and a value system is made up of inter related values.

Which of the following statement(s) 1s/are correct ?
l)aandb 2)a,bandc 3)onlyc 4)bandc

MTYh / TSR FHTSTHITOT @I TH&T / 909
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ST 8T 97s UYH WS IAUD! PHIvf aToRST ?

9) freré Q) IRT Pire 3) P TTH ) T B
Who among the following first coined the term ‘Demography’ ?
1) Guillard 2) August Comte 3) Karl Marx 4) Sten Ford

I IIRIRASIAT TGS RATRT WSS DI 1A JNEES Il 2

q) SRS R) SiRafee 3) SISl 8) TR AR
Which of the following is known as the independent Science for the study of old age ?
1) Gerontology 2) Geriatric 3) Anthropology 4) Behavioural Science

TR FHTSTST WIASUD! PIvT FAd M@ S ?

a)ges D EREIS c) fike™ d) SRR ST
RIGBUD! PIVTAT/ P YT SRR 3R/ 3T 2

q) Hh (a) ?) (a) 31T (b) 3) (a),(b) 3T (d) ) TiUd! wd
Tribal Community is known by which of the following name(s) ?

(a) Aboriginal (b) Vanya Jati (c) Girijan (d) Scheduled Tribes
Which of the option(s) given above is/are correct ?

1) Only (a) 2)(a)and (b) 3) (a), (b) and (d) 4) All of the above

a) AHSTAROT & AHIC: ad ITSumt Ufsharr 3mg.

b) TSGR Hfhdd echl ¥aa.e Awpdidia [y fFme, o, acq TR, S, sig1 @
DT AT .

RISUD Pt e /fam sRIeR 3R /3mea ?

q) Fh (a) R) & (b) 3) (a) 3MfoT (b) ) ARIeUD el

(a) Socialization is usually a continuous process.

(b) In the process of socialization, the person aonumes values, behaviour pattern, ' attitudes,

beliefs and skills by various rules of their own culture.
Which of the statements given above is/are correct ?

1) Only(a) 2) Only(b) 3) (a) and (b) 4) None of the above

TSRO WTSieud! Dot Sfe® 3med ?

a) ORI HPR RO T JTThIET BTy, b) AR qfFenTa forermr <ot g diere feremfaor,
C)FH, M I FHRIEDHET TG I, d) IR HreEd
iR S

q) (a) 3T (b) R) (@), (b) 3N (c)  3) (a), (b) M (d)  ¥) T Gl SRR M.
Which of the following are the objectives of socialization ?

(a) To inculcate discipline and instill aspirations (b) Teaching social roleo and skilln

(c) Having family, school and group of peers (d) The Media

Answer Options :

1) (a) and (b) 2) (a), (b) and (¢) 3) (a),(b)and (d) 4) All options are correct

TYh / TSR FHATSTHEITOT W TH&T / 90
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GTSIBUD! DU [T RIeR M ?

2) I ¢ SRISR 3 b Il FaTeT HRUIRIT SahiT &Fdrar Rl 31Te.

b) Afremar & fady nfor iy o iAo &chi o+ FRIfET g,

o)l I g 3TUedT AR agd TR,

d) 7T 7 fafere ot wierTg gt anfr S ac awvamre! ey Arfesfe ag.

i SR :

q) (b) 3mfor (d) ?) (a), (b) &hr (d)  3) (b) 3T (c) 8) (a), (b), (c) 37T (d)
Which of the following statement(s) are correct ?

(a) Values are the foundation of a person's ability to judge between right and wrong.

(b) Morals are specific and context-driven rules that govern a person's behaviour.

(c) Ethics are the vehicle to our morals.

(d) Norm is a specific guide to action, for acceptable and appropriate behaviour in a particular situation.

Answer Options :
1) (b)and (d) 2) (a), (b) and (d) 3) (b) and (c) 4) (a), (b), (c) and (d)

ferchemeadiet AR Ta=T 3for @l ey arear Siear e,

<7 (I) dfrsey (10)
a) frcfiaraamRay i) TRJED AtemRaTaRier SI¥RId aROT
b) fFritwedae i) 3.1, V00 — V40 Heflel FpeT HH
¢) fdRaae™ iii) oA emReTer HTER
d) wHsfar AR iv) ST Ao faey e
g IR :

@ (b) (c) (@)
9 (@) () (i) (Gv)
) (v) (i) (i) ()
3) () () () (i)
) (i) Gv) (1) (@)

Match the following between Indian Text of ethics and their feature

Text (I) Feature (II)
a) Nitivakyamratam 1) Bhartraharis hundred verses on ethics
b) Nitikalpataru 11) A Sanskrit work belonging to C. 700 - 750 CE
¢) Nitsatakam 111) Nectar of Science of Polity
d) Kamandakiya Nitisara 1v) Attributed to King Bhoja

Answer Options :

@@ () (o) (@)
) (@) @G @) @Gv)
2) (iv) (i) @1) (1)
3) @Gi) () @Gv) (i)
4) (i) (v) (@) (1)

RATN S GTetierdehl DI SHIHES et HEeT/Hdl T NN ?
q) eIl ST R) firg ST 3) Mg SHTia ¥) PIAT ST

MTYH / TSR FHATSTHITOT @I TH&T / 903
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Which Tribal Community has Heredity (lineage) Organization in India?
1) Santhal Tribe 2) Bhull Tribe 3) Gond Tribe 4) Colam Tribe

GTefeTidh! PO FHIRNTG ST AgarT JhR 37Tg ?

q) FFER ?) ged 3) faare 8) aRIcTD gl ATal
Which of the following is the key type of Social Norms?

1) Folkways 2) Family 3) Marriage 4) None of the above
RTellefiehl I Ueh Gy 3 3Te.

"'Ht PO 3P’ AT WA PloAT Jearar Ariaref g ?

a) Afeds g2 b) ApfTD J ¢) FRafthds J&d d) IR g
T SR :

9) T (a) R) % (b) 3) F (c) 8) ®h (d)

Which one of the following is a correct option?

The question "Who I am?" Connotes which value?

a) Universal Vlaues b) Cultural Values ¢) Individual Vlaues  d) Social Values
The question "Who [ am?"

Answer Options :

1) (a) only 2) (b) only 3) (c) only 4) (d) only

T =

a) I B acH [Ivge AMGs 3R,

b) TETRT T AT Bl a5 ¢ ST e,

c) TTET, ST, hl I g TG HogTedT 3TER. JogH I

d) TEATgEIR S<hl €03 SR 3TIO1 3ol & SeaRia JeaHTae &,

RIeThT ot e /fae gt 31e /eied ?

q) Fh (c) R) (b) &7 (c) 3) (a), (D) 3T (d) ) AR T
Values means :

a) Values are standards of behaviour.

b) To decide the criteria of good or bad thinks.

c¢) Evaluation is done according to values the emotions, imagination, person and society etc.

d) A person decides his/her goals and evaluates other as per values.
Which of the above statement(s) is/are incorrect?

1) Only (c) 2) (b) and (¢) 3) (a), (b) and (d) 4) None of the above
eI HE
a) AT (=0T SauarT 7ea, b) JeAH FHI TebTcHdT FHfor 8.

¢) forresTTere ac-TaRET ehl R NIgaTd.  d) SRATISY hlel & bl 3T & HedHos e g,
TS Dot e/ Rem gha amg ?
9) IHIS (a) ?) (a) 3T (b) 3) (b),(c) 37T (d) 8) RIGUD AT

MTYh / SR FATSTHEITOT W TI&T / 908
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Importance of values :

a) To help in social control.

b) Values create community integration

¢) The person remains away from devious behaviour

d) The values are determined by the context of how a person behaves.

Which of the statement(s) given above is/are incorrect?

1) Only (a) 2) (a) and (b) 3) (b), (¢c) and (d) 4) None of the above

TSI SRR Risom @R Br1 ? Ay g3l e

a) T IRORT FHBR R, b) TS T fAemRIe HrRf v,

¢) FET ST Fre, d) IR aRed gsgg ST,

it SR :

9) ek e (d) I TR, Q) Tt fAu™ (a) T (b) TSR TR,

3) %k 3G (a), (b) T (c) SRISR 3. ¢) 4 fIg™ SRR 3R,

What is the functions of Education from Sociological views? Select correct alternative.

a) To accept good traditions. b) To function in constructive and constitutive way.
¢) To achieve social control. d) To bring about social change.

Answer options :

1) Only statement (d) is correct 2) Only statement (a) and (b) are correct

3) Only statement (a), (b) and (c) are correct  4) All Statement are correct

"pod SR gdT g oI ST let 3T R CATTsRISR 379 o Pod 3N of gaf Aegal’” g ached pioft ohel
3R ?
9) . gt o R) -8l -E. . AAGR  3) ¥l UK Ploe ) Sit. T, g

"Family is still what it was and at the same time i1t was not what it is", who said this statement?
1) Dr. Irawati Karve 2) Dr. D. N. Majumdar
3) Dr. Sudhatai Kaldate 4)G. S. Ghurye

STRITATEROTTAT I TGN AHIRTD FIF SIf Jei AR A1 HRUIR "Contemporary India -
a Sociological View" IT HST JIIa oige DT e 2
9) 3 A Q) IS TaT 3) FHT SIS ¢) . P, 3T

Whois the author of the book "Contemporary India - a Sociological View" which comments on
the changing social norms and values in the wake of globalisation?
1) Amartya Sen 2) Ramchandra Guha 3) Satish Deshpande 4) T. K. Oomen

3Mes 3T 31 (Old and Alone) & 39 ... I foAfderer 3R,

9) g 3MOr el 2) HosT I 3) B & ¢) SRHt evei
The book entitled "Old and Alone" is written by......
1) Horton and Leslie  2) Seldon Bacon 3) Dr. Durfee 4) Jeremy Tunstall

TYh / SR FHTSTHEITOT W TIET / 904
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a) Ih! b) 3FUTIRSG Heed  ¢) Ae9F Faemad d) Feed! aw@
gift S

q) (a), (b) 37T (d) TIfT I 31T, ?) (c) 31 (d) Tl AT arred

3) (b) 3mfor (d) i IFg 3. 8) (a), (b) 3T (c) T T=T 3R,
The Human Relations Theory of organization has the elements :

a) The Individual b) Informal organization

c¢) Participative management d) Principles of organization

Answer Options :

1) (a), (b) and (d) options are correct 2) (c) and (d) options are correct

3) (b) and (d) options are correct 4) (a), (b) and (c) options are correct
AT (e TedhThgd Schid FTHTSTIERUT dhel ST, T FTHTSITERRUMTE HTeTH 3R FgUrdd. Tl —

a) I b) 9TreeT ) IHRRD B d) SFRIUS HTe
NITIH BIOIT /PO G Fehram 318/ 31mee ?
9) & (d) R) &b (b) 3) e ) eRiedeh! ATEY

An individuals socialization is undertaken by various ways in the society. They are called as agencies
of socialization. Among them :

a) Family b) School c) Peer group d) Means of communication
Which of the above option(s) is/are incorrect ?
1) Only (d) 2) Only (b) 3) All the above 4) None of the above

) AHTSIhRRIT Hefed AR/ fremurems

CIRIKESISSIRSCEIE

ferepuaTelt SreTHe aref
a) TR i) fofeuara srsaor
b) ferifaa=n il) HIoUATd 3T
c) fsanfthan iii) arIuaTa 3rST
d) 3rhegieran iv) 99T ST fohar aTaRuaTd ST
R SR :

@ ®m (© @
G @G @) @Gv)
2)  (v) (i) @) (3
3) () i) @) @Gv)
4y @) G Gv) @)

TYh / TSR FHATSTHEITOT W TH&TT / 90%
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Match the following pairs :

Learning Disabilities Meaning
(a) Aphasia 1) difficulty in writing
(b) Dyslexia 1) difficulty in counting
(c) Dysgraphia 111) difficulty in reading
(d) Acalculia 1v) difficulty in understanding or using language

Answer Options :
@ () () @
1) (i) (1) (i)  (@v)
2) @iv) (i) (1) (ii)
3) (i) (i) (1) (iv)
4) (i) @) @Gv) (1)

ACA™ UGelt & qIADIAT ... 91 fde g ufgel T o

a) SRhIAC b) AFRID ¢) goreftet d) Feifareror

i SR :

1) (b) ?) (a) T (b) 3) (@) 8) (d)

In Montessorie method .............. development of child is the first principle.

(a) Personality (b) Mental (c) Creative (d) Self education
Answer Options :

1) (b) 2) (a) and (b) 3) (a) 4) (d)

a) IRIR 30T AT FHIGTEFIIIR T IRYOIAT SUIQ =gurt f2refor

b) "fifes fraromreaT AT SEaTET S AT FuIST fRrar,

¢) f31e1or & Tp TRINIINST 3T Y AxEsIHIe UG HeRH ST JMSUT quiRiet ST,

d) ATsT F - fRrarT TgorSt Hfererr St At AuUIedT HYH S URURAICH et ST,

RieTieh! PIorcht e Tele dhefl 3led 2

Tt SR :

q) (a) 3T (b) ?) (c) for (d) 3) (b) 3T (d) 8) (a) 37foT (d)

(a) Education is giving the body and soul all the perfection of which they are susceptible.

(b) Education means sponteneous development of our organs through media of the education of
Nature.

(c) Education is the laboratory where philosophical distinctions become concrete and are tasted.

(d) Imean by education the training which is given to the first instincts of virtue in the children.

Which of the above statements are made by Plato ? Mi
1) (a) and (b) 2) (c) and (d) 3) (b) and (d) 4)a)and (d)

fRTeMMeT e BN Aa FTeH PRI fcdh PIvRd ?

a) d! qATeE SGhdd AT

b) =GARIE T Ufe Tfifererdd are

C) BRP DT J ARG DI TG

Tt S :

1) W (a) ?) (a) 3T (b) 3) (a) 37T (c) 8) (a), (b) 3 ()

3MTYh / TSR FHATSTHEITOT W TIET / 900
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Which are the factors of Human Resources Development achieved through Education?
a) Increase in human resources productivity

b) Increase in professional and regional dynamic

c¢) Increase in skills and conceptual skills

Answer Options :

1) Only (a) 2) (a) and (b) 3) (a) and (¢) 4) (a), (b) and (c)

TSV HIERAT J 37 ATGRAAR TR QUINIIC! AT TS IS PRI TN ?

31, 9T SS9 O S’ A IS

9. QT FHT AT,

S, JUTGATT STARUR AT3TS! SUHH AT,

it S

q) 3 ) 3, F, B TS 3) 9 ®) 31 3ffor &
To focus on fundamental literacy and numeracy what will school do from the following ?
a. Plan for ‘language weeks’ and ‘mathematics weeks’.

b. Conduct school assemblies.

c. Arrange regular ‘language melas’ and ‘mathematics melas’.

d. Conduct weekly activities around the library.

Answer options :
1)a 2)ab,candd 3)b 4)aandc

AT Jeleudh! PIURAT JRIpMe i Saifire R F=ifiE amed ?
9) TifSfeR 3nfdr fhel (Gorgias and Phaedo)

Q) HIfthRe 3Tfor SRR (Sophist and Lycis)

3) @IS 3Mfor Rufeeses (Laws and Republic)

) TRUATSSY 3MfOT MR (Parmenides and Protagoras)

Which of the following books of Plato consists of his educational thoughts ?
1) Gorgiao and Phaedo 2) Sophist and Lycis

3) Laws and Republic 4) Parmenides and Protagoras

T IR T ... = gafdel.

9) PRI ?) TefiE 3) TeiiciE 8) Zre!
The Four Pillars of learning are suggested by
1) UNICEF 2) NCERT 3)NCTE 4) UNESCO

RAqUl TR €Y MSUIRITS! JURUTND qreel Rigrurrerm #nf #=guret .....

a) di forermr b) @rertt frefor ) 3—3eH d) geh—ferermor
g} SaR
q) (a), (b) T (c) R) (b) T (c) 3) ®h (c) 8) ®h (d)

TYh / TSR FHATSTHEITOT W TH&TT / 90¢
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To achieve goal of total literacy way of non conventional distance education means ..........

a) Technological education b) Private education

c) E-learning d) Open education

Answer options :

1) (a), (b) and (c) 2) (b) and (¢) 3) only (c) 4) only (d)

q) 6 AR S TG R) FeldgIHD Ao

3) oTReERhl HSIA g) AlGaT |AHITS Fegrelt Femd
Twitteris used to .......

1) communicate confidential information 2) electronic mail

3) interpersonal communication 4) communicate big social group

el T Goft e difga STeraT AR (ARG & DIvKTel TRe 9!, Qeieiel ARING TR
HIRAT Hgedrdl el 3 ... | TE Pl

9) 1. PR Q) = g

3) Hmc g He g) o, ™. Fehaeae™

There is no difference between intellectual or psychological capabilities in boys and girls,
physiological difference is not important among them, is stated by

1) Dr. Kothari 2) Dr. Reddi
3) Smt. Hansa Mehta 4) Shr1 M. Bhaktvatsalam

‘arTaTcH freror (frifeeg Togehere)’ iorean fomReaneft weferd s ?

q) S Q) ol 3) Tt faderg g) HEIcAT et
‘Negative education’ is associated with which thinker ?
1) Plato 2) Rousseau 3) Swami Vivekanand 4) Mahatma Gandhi

'SFMAT g AAIo TEuTS fo1er g o it g ?

q) AT JhsIol HERIT R) ST S 3) G TR g) o
Who said, ‘Education is a reconstruction of experiences’ ?

1) Rashtrasant Tukadoji Maharaj 2) John Dewey

3) Rabindranath Tagore 4) Rousseau

"o FRURST AT Gdl SHerre STfeRhl’ g fRreor FgurT HsaTciies quicaTet SfteRhl, SR ...........
T TE B,

9) HgreAT Meft Q) fomrar Wy 3) fag@rg g) XfdgTer TR
“Religion is the manifestation of the divinity already in man” and “Education is the manifestation
of perfection in man” is stated by

1) Mahatma Gandhi 2) Vinoba Bhave 3) Vivekanand 4) Rabindranath Tagore

TYh / TSR FHATSTHEITOT W TH&T / 908
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T feraRIg A 3ngesd ?

a) TTf fAfefch b) fereror enfor Sfiaw IreT Ade
c) fareror o d) 31ETT 3reTIT Ugelt

e) freor TguST ST f) Fffe T a w@ma=

g) PRyt aferen

g SR :

1) (a), (b), (c) 3Mfor (d) ?) (), (d), (e) 3o ()

3) (b), (e), (f) 3rfor (g) 8) (d), (e), (f) 3o (g)

While Studying the Educational views of Swami Vivekanand and Rabindranath Tagore which of
their following views are similar?

a) Character Formation b) Relationship between Education and Life
c¢) Education Scheme d) Teaching Learning Method

e) Education means self realization f) Natural Development and freedom

g) Proximity to Nature

Answer Options :

1) (a), (b), (¢)and (d)  2) (c), (d), (e) and (f) 3) (b), (e),(F)and (g) 4) (d), (e), () and (g)

faremefelt STt oMo arent Ode ST, 1 Fe4id geiel Pivk e aRiER Jied ?
a) U GEraid SRieied femedfdt wreAe araof sdett ST,

b) faemedfen HRIR PO =TT TR AT qRGIT B,

¢) faemeafean emar SHaIT PIUAT SNITAHIT R & FHOI,

d) faeneataelel qurr T by AR 78l higd R,

R PIoRT e /fRum aRER 378 /8mee ?

9) e (a) R) H5 (b) 3) (a), (b)3r (d) ) a¥IeT TS
Which of the following statements are hue regarding aptitude test of the student ?
a) Mostly aptitude test taken for loth class students.

b) To guide the students to choose the correct career.

¢) To understand to abilities of the students in the appropriate curriculum.

d) To focus on the quality and development of the students.

Which of the statement(s) given above is/are correct?
1) only (a) 2) only (b) 3) (a), (b) and (d) 4) All above

TSB! JFaemT afdre Hivh ?

9. @Y T IR Tehral qTEIaR hiod BN,

%, BeF o UM UM a6k Sedre feg &,

S IRl TEUST gH STaeT.

3. 9 GG god T AT ST,

i SR :

9)3, B, g )P, 8, 8 3) g3 ) 31, 9, P, T A3

TYh / SR FHATSTHEITOT W TI&T / 990
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Which of the following are the characteristics of attention ?

A. Attention process is continue while sleeping also.

B. Attention focuses on a single thing at a time.

C. Children’s attention concentrates on a single thing for long period of time.

D. Interest is a dormant attention.

E.Highly intelligent children have good attention.

Answer options :

DHA,CE 2)C,D.E 3)Band D 4)A,B,C,DandE

TETel SregATeff qRierd SR AT o) T eIt Rt R, ardrerer, fEdiarR, 9me,
Sl QT acH, feTees ATfge, sreg-reatear Jedl, geft, STIruG, JMha &, & Jreal
YR T3] T 39T SuIrl YT fafder 3 ot S, & freRued) piord) 2

q) DT frRUGd ) PN fERTGd! 3) Foe faRugd 8) ffheae faamugd

If a student fails in an examination, then his home situation, environment, friends and family,
school, his behaviour in school, guidance received, student’s habits, attitude, method of study,
comprehension, intelligence are assumptions made to interpret the incident by various ways.
Which is this way of thinking ?

1) Convergent thinking 2) Divergent thinking

3) Creative thinking 4) Critical thinking

RIS WSS g araaragid g iy &,

g 1 : garer giifae fohai=r sfesas Fgurd.

g I1 : R19 fohar Ufeom= B TeeuTe ac S0 TeuTt Ted 81,

9) areg 1 3nfor 11 g aRIsR 3t R) I [ aRIER 3MfoT 11 ghi oTe
3) g 1 o7ifon 11 Qe e 3fied g) g [ ghra afor 11 sRIeR 37

Take proper decision regarding following two statements given on learning.

Statement I : Learning means reflective activities of a person.

Statement II : Learning means permanent change in the behaviour through training and practice.
Answer options :

1) Statements I and II both are correct 2) Statement I is correct and II is wrong

3) Statements I and II both are wrong 4) Statement I is wrong and Il is correct

SFIHAT G FuroT fR1er g 3Ry pioft e ?

q) TEHT TSI AR ) S &I 3) fdgTer eFR Rl
Who said, ‘Education is a reconstruction of experiences’ ?

1) Rashtrasant Tukadoji Maharaj 2) John Dewey

3) Rabindranath Tagore 4) Rousseau

arTaTcHes freror (frifeeg Togeherd)’ apivren fommReaeft wefera amg ?

9) wher ) o= 3) Tt fadwrg ) HgeHT Tiedt
‘Negative education’ is associated with which thinker ?
1) Plato 2) Rousseau 3) Swami Vivekanand 4) Mahatma Gandhi

3ITYh / JITABRY FHTSTHITOT W THeT / 999
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ST G DU GG rd el R FAIfdE e ?
q) 7T 3foT kel (Gorgias and Phaedo)

Q) Alfthee 31T SRIRRT (Sophist and Lycis)

3) o1 3ffor Rufessas (Laws and Republic)

%) IRYATSS STfT MeM¥ (Parmenides and Protagoras)

Which of the following books of Plato consists of his educational thoughts ?
1) Gorgiao and Phaedo 2) Sophist and Lycis

3) Laws and Republic 4) Parmenides and Protagoras

fTeTuTTeaT DIV FRTeRIS AT 31ETR UTdes! SRIAUIRITS! AT AfSdt TS bt Bl ?
q) Hrerfie fareror Q) Hredfep T 3) 9% ATegfhS femr g) S fore

At which level of education has the Government constituted a committee to decide the minimum
level of learning ?
1) Primary Education 2) Secondary Education

3) Higher Secondary Education 4) Higher Education

"' TEUTS] ST Gl ST JFfehl’’ g fRTerur FEurSl HsaTciies qofcardl STYeRhl’, 3R ...........
T T B,

9) TEreHT Meft Q) forer g 3) faderg ) fegATer TR
“Religion is the manifestation of the divinity already in man” and “Education is the manifestation
of perfection in man” is stated by

1) MahatnaGandM 2) VinobaBhave 3) Vivekanand 4) Rabindranath Tagore

a) el adq umriefl Heafd @13ft AFcs Taedt AERiR0r TSt i FRE 8.
b) TR PTEl AITGT TBURT, AT TSTBST 3T 3fce! ot 7w 8.

C) TRHITAT IS gl STl Fgurl FRA 8.

RIGUD! DIV G SRS 3N /3 ?

q) IS (a) R) e (b) 3) (a) 3 (c) 8) Ao e
a) Norms are standardized generalizations concerning expected modes of behaviour.
b) Anorm is an abstract pattern, held in the mind, that sets certain limits for behaviour.
¢) Anorm is a group expectation of behaviour.

Which of the option(s) given above is/are correct?
1) Only (a) 2) Only (b) 3) (a) and (¢) 4) All of the above

GTefieTdhl AT TRART TARATEIHAT Jo g Aifciatd STIRUIRITS! qobehe! fHobeT ?

a) gfod g ShHTY HILgHIHl JaRAfRd UTel e,

b) Sifexret nfor Ui BRI A9y SRR TaR i),

¢) AP IR ITATRIS! Ui ITAERel TR I,

d) PR IUFMCT AHIND SEEGR! SRIeRE i Jeaid gre v,

RIeTDh! Dot e/ faem RER 311e /3 ?

1) Bh (a) R) h (b) 3) (a), (b) 3T (c) &) eI T

MY / JTABRT FHTSTRITOT @I A& / 993
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Which of the following strengthen/s Indian Media to Promote Values and Ethical Principles?
a) To follow the code of conduct through printed and audiovisual media.

b) Special code of conduct for advertisements and sponsored programs should be prepared.
c) Create a healthy environment to follow ethical values.

d) Follow the social responsibility as well as ethical values for corporate businesses.
Which of the statement(s) given above is/are correct?

1) Only (a) 2) Only (b) 3) (a), (b) and (c¢) 4) All of the above

STEATIATAT THASSIIAR STEITIATT ST A IR-I=IT HIoAT ?

9) TR o= — I aas — 3TeATI eI Ui,

Q) I 37T Ufehar — 3R I+ - URMS aa.

3) URM® I — ITeU 31T Ufshar — 3ffc™ dai.

8) (), (), (3) Ut T,

What are the three sequential steps of teaching as per Technology of Teaching?
1) Initial behaviour - Final behaviour - Teaching learning process.

2) Teaching learning process - Final behaviour - Initial behaviour.

3) Initial behaviour - Teaching learning process - Final behaviour.
4) None of (1), (2), (3)

faremefell Sff oMo @mevl Odel ST, T AeHid gelel PivR e aRiER 3 ?
a) U SEraia aRTeied femedfdt wreAe aravl Sqet ST,

b) faemedfer HRIR DU =TT FRRIT AT qRGIT B,

¢) faemeafear emar SHaRIT PIUAT INITAHIT AT & FHOI.

d) faeneaineller qurar for fpr Jrear 8 dhigd R,

RieTient i e /foam aReR - 37e/ 31ed ?

9) B (a) ?) H% (b) 3) (a), (b) 3T (d) ) a¥ieT &S
Which of the following statements are hue regarding aptitude test of the student ?
a) Mostly aptitude test taken for loth class students.

b) To guide the students to choose the correct career.

c¢) To understand to abilities of the students in the appropriate curriculum.

d) To focus on the quality and development of the students.
Which of the statement(s) given above is/are correct?

1) only (a) 2) only (b) 3) (a), (b) and (d) 4) All above

Ty freome TEw

a) Thra AR TefIuarTd! b) Tt et

¢) HEt gt T g0 TS d) faferdT srTeiedT ST IERT UhIerd ATeuaTa!
Rietient o e /e gdhar a1e/ 3ied ?

q) & (b) ?) (a) 37fOr (b) 3) (@), (b)3mor (d)  ¥) (c) 3T (d)

3IYh / AIBRY FHTSIHEATOT W Uterm / 993
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28) Importance of value education :

1)

2)

3)

4)

a) To develop the character of a person

b) For attitude development

c¢) To provide new direction to human behaviour

d) To achieve national integration in a country with diversity
Which of the above statement(s) is/are incorrect ?

1) only (b) 2) (a) and (b) 3) (a), (b) and (d) 4) (c) and (d)
3) WHTSTRRITEAT Hafed 3refemet
QI IR BIFTRIET AFTU g YRacaTe! SJesaull Sxum=T HdeT GRS B DHIvT P ?
9) M IR Hifgd! HoTe! Q) IFT EaTd Ufdenr gRkeg
3) W plered e fE ) TET DI BRI TEHR
Who will act as A portal for matching the demand and supply of skilled workforce in the country?
1) Labour Market Information System 2) National Council of Vocational Training
3) National Skill Research Division 4) National Skill Development Co-operation

I famitdT S R amg/d ?
a) 9 =T I 3Mfefes T Tegy sumaTd Nafife FTe- AgwE! o,
b) 9T e AR f3emr @ IR fAdRT 3Tmaegsd v,

WW:
9) &h (a) ?) & (b)
3) qFgl (a) T (b) SRIER 31Ted. Q) P! RISR AT

Which of the following sentence are correct?

a) Natural resources are important to economic development in 21* century.

b) Education and health development are essential in the development of human resources.
Answer Options :

1) Only (a) 2) Only (b)
3) Both (a) and (b) are correct 4) None is correct
TINC 94-3Y FhiAgiel FRERTT Jofd: JeMeT HRUITR ......... T GeraTfep aomHed WR et Ao,

q) TR g A (9%4€-9%€0) ?) 3Tet UeEfier AT (9333-9%%0)
3) Urerelt gaarfes AT (9908 —9]0% ) ) AT gerETes AT (93¢4-9%R0)

Complete eradication of illiteracy among the people in the age group 15 to 35 years was mainly

focusedin.............. five year plan. .
1) Second five year plan (1956 - 1960) 2) Eighth five year plan (1992 - 1997)
3) Fifth five year plan (1974 - 1979) 4) Seventh five year plan (1985 - 1990)

2099 T SR HRATT TR0 ATBARIT e FAhaeid! Thant focl 31g 2

9) 0.0% ) 39.9% 3) 34.8% 8) 38.4%
What is the percentage of Urban Population in total population in India (2011 Census)?
1) 27.7% 2)31.1% 3) 35.4% 4) 36.5%

3IMYh / ATIBRY FHTSIHEATT W Tterm / 998
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A Nfife g ASarel gdieT gcdh MeRe del A :

a) SFHGY b) TR C) TIATTR d) R e
gt SR :

q) (a) 37T (c) ?) (b) T (c) 3) (a) 3T (b) 8) ®h (d)

The following factors are considered determining the Natural Growth of the Population:

a) Birth Rate b) Death Rate ¢) Migration d) None of the above
Answer Options :

1) (a) and (¢) 2) (b) and (¢) 3) (a) and (b) 4) Only (d)

IR SFRUMET 099 TR Giefiel Isaiiel forT UIR Fecdmsh T ara :

a) feramaet ger b) ST ¢) fogr d) g e) ufee e
Tt S :

1) (©), (b), (), (d), (@) R) (b, (c), (d), (a), (&) 3) (b), (c), (e), (a), (d) ¥) (c), (b), (a), (d), (¢)
Arrange the sex ratio of following states in ascending order according to Census 2011 in India.
a) Himachal Pradesh b) Rajasthan ¢) Bihar d) Tripure e) West Bengal
Answer Options :

1) (c), (b), (e), (d), (@) 2) (b), (c), (d), (a), (e) 3) (b), (c),(e),(a), (d) 4)(c), (b), (a),(d), (e)

YNTIT TGN SIerp ST @ichieiidht Bivrc vl led 2

a) F&F @bicT 13a1E B et b) GAIET FeATel T HeTT

c) STAIATETHD TT7EH BITTE G e, d) wrERTE T FH1 SO g 75 Gt
gieTiehl BIvic e/ e RIS 37T,/ e P

g1 T -

9) (a) 37 (b) 2)(b) s1or(d) 3).(b) 3r(c) &) avierdehl el

Which of the following are reasons for higher birth rate in India?

a) It is compulsory for every person to Marry.

b) More importance to a boy than girl.

c¢) Because of child marriages reproductive period is longer.

d) Low literacy rate and low living standard.

Which of the statement(s) given above is/are correct?

1) (a)and (b) 2)(b)and (d) 3)(b)and (c) 4) All of the above

AT arg 3T ARG [epraiee} T e AT I 90R¢ ALY Wlefleidd! P fJaR
qiset ?
a) APl MHR PRI Squarae =fies T 3o,

b) faTerar TuTd are.

¢) AHERAT Ue, TRPI®, ], U, SURTAR IT PRI &l Bk

R rorct e/ faem ghRr ame/3med ?

q) Fh (a) ?) (a) 3T (c) 3) (a), (b) 3T (c) &) RSN Arel

TYh / SR FATSTHEITOT W TI&T / 99Y
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Which of the following ideas was presented by Thomas Robert Malthus in 1798 on Population
growth and Social development?

a) Maintaining Moral restrain to control the size of the population.

b) Increasing the are of Marriage

c¢) The decline in population is due to drought, floods, earthquakes and starvation.

Which of the statement(s) given above is/are incorrect?

1) Only (a) 2) (a) and (¢) 3) (a), (b) and (c¢) 4) None of the above

a) AP PR AT AMETID [ABRIT TR e 3R,

b) TANHEET FH IRTCIRT T ARG fpraTeR gRome gia,

C) ANPAET 3N ITIRT & e IR AMETID fJepRIar gl

d) SNHEAT MMBR GU SR fhaT Ta G+ 3R AT Q! FTd AT fAhrATeT ARe ST,

RieTieh o e/ e aRIeR 371g / 3ired ?

q) (a) 30T (c) R) (@), (b)3mor(d)  3) (b), (c) M) ) Feud &

a) The size of the population and social development are interrelated.

b) If population is low then it affects social development.

c) Evenif the population is high, it affects social development.

d) Whether the size of the population is too high or too low, both are deterimental to social
development.

Which of the statement(s) given above is/are correct?
1) (a) and (¢) 2) (a), (b) and (d) 3) (b), (c) and (d) 4) All of the above

Tefian SFHGR dreaul, o Fas Hfae aRur, Hefiea fRIemaTe! HIcHTe R0l JRITC! WeieTieh! PIurT
RISEIINEICL IR

9) FTERFNYT IS Q) AR ST

3) sfexr el ATged FgIrT AT 8) qref =g YISt Al

Which one of the following scheme is being implemented for increasing birth rate girls, prohibit
sex selection and encourage girls for education?

1) Bal Sangopan Yojana 2) Manodhairya Yojana

3) Indira Gandhi Maternity Assistance Yojana 4)Mazi Kanya Bhagyshree Yojana

GTefierdh! oKt e Jmr 3img / 3Ted 2

a) 099 It SFFIUET & TR 94 df g TRt © o SEROET gien,

b) SFFIUFT SHIIGT RS o HHT HRUAT g TR Ufgelt SFRUMT 4949 Hed UR Uge,

¢) TR AR Al RIpRATR SFvm Fquf SEeeRT i edet.

i SR :

1) (a) R) (b) 3) (©) 8) eIl

Which of the following statements is/are correct?

a) The Census of 2011 is 15" consecutive census and 7" census after independence

b) The Census law is approved in 1949 and the first census of India is conducted in 1951.

c) Afterindependence, the whole responsibility of census is taken by states as per Bhor Committee
recommendations.

Answer Options :
1) (a) 2) (b) 3) (c) 4) All of the above

3IYh / ATIBRY FHTSIHEATT W Term / 99§
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2099 T SFVFIAR 8 TR BI0ANIG! P BHt et atfh . Almaeet ear fadt oo
3MERD ATE ?

9) 300 ) 340 3) 800 g) 840

According to 2011 census of India, What is minimum per square k.m. density of population

required to be Urban area?
1) 300 2) 350 3) 400 4) 450

TR APt Yoy WAy 378

a) foTT TOTRR QY 3TTe. b) TRRRY A 09 T 3R,

¢) fr) eepvear a0 9 ST 3R, d) STERAT THIU Qe AN T JONHe 3T,
gieridhT o gafr A 3 ?

q) (a) 3T (c) ?) (a) 31T (b) 3) (c) 3nfor (d) 8) (b) 31T (c)

Nature of Indian Population are as follws :

a) Sex ratio is 954.

b) The average life expectancy is 71 years.

c¢) Half of the population is young and productive.

d) Literacy ratio is more in urban areas and male.

Which of the following options is true?

1) (a) and (¢) 2) (a) and (b) 3) (¢) and (d) 4) (b) and (¢)

Tgrenr Tieft s g ASTR g6 Aot dfineR ot eed ?

a) SISFIRTE 3rTfgR AFTof b) SHR JTT (PH I et )

¢) gardt fearoft d) oI 5/ ST elell JASTIRE! JMLATRId
gl SR :

q) (a) 3T (b) R) (a), (b)3fer () 3) (a), (b)3Mfr (c) 8) I TR SRR 3T

What are the features of Mahatma Gandhi National Rural Employment Guarantee Scheme?

a) Demand through employment application

b) Payment of the dole if work is not provided.

c¢) Cost Sharing

d) Employment involving no physical exercise also guaranteed.

Answer Options :

1) (a) and (b) 2) (a), (b) and (d) 3) (a), (b) and (c¢) 4) All options are correct

RIFR Ffegd axuareeiet dF sTeRyd aw :
a) IhIEY B IROIT & RTel aIfga, b) @RI P RO STHT IRASA UTfRor.

¢) P MYTITATS! TIT Bl TTfRe, d) SRR JTAN3MT P feerer Urfeo.,
et o e /e ghier ame/3mga ?
q) B (c) R) W (d) 3) (a), (D)3 (c) ) el &

Three basic principles of determining unemployment :
a) The person must have the ability to work b) The person must have a desire to work.

c) Efforts should be made to find work. d) The person should get the job automatically.
Which of the statement(s) given above is/are incorrect?
1) Only (c) 2) Only (d) 3) (a), (b) and (c¢) 4) None of the above

TYh / SR FATSTHEITOT W TIET / 996
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PIUIT TR IS SRISTIRI HIGAT THIONR HHT 81 2ehd ?

a) G- TIfrarT g

b) AreRiciter Tifreror

¢) TNDHT TR Fafadh ol

d) BT TN AR FARTAT SGAvIRT URT HRor

gt SR :

q) e (a) AT (d) R) Fh (a), (b) 37T (c)
3) ek (d) ) RieD! ad
Structural unemployment can be reduced to great extent by :

a) Providing retraining

b) On job training

c¢) Making people occupationally flexible

d) Motivating people to change existing employment structure
Answer Options :

1) (a) and (d) only 2) (a), (b) and (c) only
3) (d) only 4) All of the above

N - (¢) TSR Gafdd WA, 309TRT g BRI
q) AHISTRRIAT HAeed TSI

-8 3-3% ¥—9 4-9 &% 9-% ¢-3 ¥-3 90-3
-3 93-9  9¥-9  94-8%  9§&-3 90-9 -8 9R-¥ 0-Y
Q-9 W-8 W-¥ Y-8  ¥-] W-3 -8 R-¥  30-%

) FWHISTRRIERAT Hefed HEIRT / foraquremst
-3 3-% g—3 4-3 €-3 0-% ¢-3 Q-¥ 90-3
9—- 93-3 98-3 94-9 9g-3 Q-9 9¢-9% 9R -2 R0-2
Q-9 3-3 R¥—9Y PR Re—-3 29-9Y AW-9Y

3) WHTSTRRITaT 9afe i

-3 3-R 8- 4-3 &9 v-& ¢-% R-% 90-%
QR-3 133 98-3 Q4= Q&R
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